

ON LACUNARY RECURRENCES WITH GAPS
OF LENGTH FOUR AND EIGHT FOR
THE BERNOULLI NUMBERS

MIRCEA MERCA

ABSTRACT. The problem of finding fast computing methods for Bernoulli numbers has a long and interesting history. In this paper, the author provides new proofs for two lacunary recurrence relations with gaps of length four and eight for the Bernoulli numbers. These proofs invoked the fact that the n th powers of π^2 , π^4 and π^8 can be expressed in terms of the n th elementary symmetric functions.

1. Introduction

The rational numbers B_n ($n = 0, 1, 2, \dots$) defined by the Laurent series expansion

$$\frac{x}{e^x - 1} = \sum_{n=0}^{\infty} B_n \frac{x^n}{n!}, \quad |x| < 2\pi,$$

are well-known in literature as the Bernoulli numbers. Rewriting this relation as

$$\left(\sum_{n=1}^{\infty} \frac{x^n}{n!} \right) \left(\sum_{n=0}^{\infty} B_n \frac{x^n}{n!} \right) = x, \quad |x| < 2\pi,$$

and considering the Cauchy product for series, we derive the classical recurrence relation for the Bernoulli numbers B_n ($n = 0, 1, 2, \dots$):

$$\sum_{k=0}^n \binom{n+1}{k} B_k = \delta_{0,n},$$

where $\delta_{i,j}$ is the Kronecker delta [8, p. 229]. In this relation nearly half the terms on the left hand side do not contribute anything since $B_{2k+1} = 0$ for $k > 0$. On the other hand, it is well-known that $B_0 = 1$, $B_1 = -1/2$ and $(-1)^{k+1} B_{2k} > 0$ for $k > 0$.

Received April 10, 2018; Revised August 1, 2018; Accepted August 22, 2018.

2010 *Mathematics Subject Classification.* 11B68, 11B37, 05E05.

Key words and phrases. Bernoulli numbers, recurrences.

The sequence of Bernoulli numbers is one of the most important number sequences in mathematics having extensive applications on many areas. Recurrence relations for the computation of these numbers have been the subject of a large number of papers. In 1986, Namias [13] conjectured that an infinite number of recurrence relations for Bernoulli numbers can be obtained. One year later, Belinfante [1] published an infinite number of recurrence relations for the Bernoulli numbers, namely

$$B_n = \frac{1}{m(1-m^n)} \sum_{k=0}^{n-1} m^k \binom{n}{k} B_k \sum_{j=1}^{m-1} j^{n-k}, \quad m > 1.$$

In 1993, Howard [5] showed that this relation is not new; it is a special case of the multiplication theorem for Bernoulli polynomials: If n and m are positive integers with $m > 1$, then

$$B_n(mx) = \frac{1}{m^{n-1}} \sum_{j=0}^{m-1} B_n\left(x + \frac{j}{m}\right).$$

Very recently, Merca [11] uses the generating function for the Bernoulli polynomials to introduce a number of infinite families of linear recurrence relations for the Riemann zeta function at positive even integer arguments, $\zeta(2n)$. So by [11, Theorems 2.1 and 3.1], with x replaced by 0, we derive two infinite families of linear recurrence relations for the Bernoulli numbers:

$$\sum_{k=0}^n (\alpha^{n-k} - (-1)^k (\alpha - 1)^{n-k}) \binom{n}{k} B_k = 0$$

and

$$\sum_{k=0}^{\lfloor n/2 \rfloor} \binom{n}{2k} \alpha^{2k} B_{n-2k} = \sum_{k=0}^n (-1)^{n-k} \binom{n}{k} \frac{(\alpha - 1)^k + (-1 - \alpha)^k}{2} B_{n-k},$$

where n is a positive integer and α is a real or complex number.

Recurrence formulas of this kind have the disadvantage of demanding the previous knowledge of all (non-zero) B_0, B_1, \dots, B_{n-1} for the computation of the n th Bernoulli numbers. The problem of finding fast computing methods for Bernoulli numbers has a long and interesting history. Using different methods, Ramanujan [14], Lehmer [9], Riordan [15, pp. 138–140], Chellali [3], Yalavigi [18], Berndt [2], and Howard [6, 7] have all worked out lacunary recurrence formulas for the Bernoulli numbers. Ramanujan's paper [14] contains linear recurrence relations for Bernoulli numbers, where the indices have gaps of lengths 4, 6, 8, and 10. The following relations, due to Ramanujan,

$$(1) \quad \sum_{k=0}^{\lfloor n/2 \rfloor} (-1)^k 2^{n-2k} \binom{2n+2}{4k+2} B_{2n-4k} = (-1)^{\lfloor n/2 \rfloor} (n+1)$$

is a classical example of a lacunary recurrence for the Bernoulli numbers. This recurrence relation has gaps of length four. For example, to compute B_{4n} , it is not necessary to know the non-zero values of B_j for all $j < 4n$; we need only to know the values of B_{4j} . We remark that this lacunary recurrence was obtained later by Lehmer [9] as a special case of a more general result. Another lacunary recurrence relation with gaps of length four derived by Lehmer in [9] is given by

$$\sum_{k=0}^{\lfloor n/2 \rfloor} ((-1)^k 2^{2k+1} + 1) \binom{2n+4}{4k+4} B_{2n-4k} = ((-1)^{\lfloor n/2 \rfloor} 2^{n+1} + 1) \frac{n+2}{2}.$$

The formulas become more complex, and difficult to obtain and write down, as the gaps increase in size. By Ramanujan's paper [14], it is an easy exercise to derive the following complete set of lacunary recurrence formulas with gaps of length eight:

$$\begin{aligned} \sum_{k=0}^n (-1)^k \alpha_{4k+2} \binom{8n+4}{8k+4} B_{8n-8k} &= (-1)^n (2n+1) \alpha_{4n+2}, \\ \sum_{k=0}^n (-1)^k \alpha_{4k+2} \binom{8n+6}{8k+4} B_{8n+2-8k} &= (-1)^n \frac{4n+3}{2} \alpha_{4n+3}, \\ \sum_{k=0}^n (-1)^k \alpha_{4k+2} \binom{8n+8}{8k+4} B_{8n+4-8k} &= (-1)^{n+1} \sqrt{2} (n+1) \beta_{4n+3}, \\ \sum_{k=0}^n (-1)^k \alpha_{4k+2} \binom{8n+10}{8k+4} B_{8n+6-8k} &= (-1)^n \frac{4n+5}{2\sqrt{2}} \beta_{4n+4}, \end{aligned}$$

where

$$\alpha_n = \left(1 + \frac{1}{\sqrt{2}}\right)^n + \left(1 - \frac{1}{\sqrt{2}}\right)^n \quad \text{and} \quad \beta_n = \left(1 + \frac{1}{\sqrt{2}}\right)^n - \left(1 - \frac{1}{\sqrt{2}}\right)^n.$$

A more concise example for the lacunary recurrence relation with gaps of length eight is given by Lehmer in [9]:

$$\sum_{k=0}^{\lfloor n/4 \rfloor} 2^{n+1-2\lfloor \frac{n+1}{4} \rfloor - 2k} a_{4k+2} \binom{2n+4}{8k+4} B_{2n-8k} = (-1)^{\lfloor n/2 \rfloor} (n+2) a_{n+2},$$

where

$$a_n + 34a_{n-4} + a_{n-8} = 0,$$

with the initial condition

$$\{a_n\}_{0 \leq n \leq 7} = \{2, 0, 3, 10, 14, -12, -99, -338\}.$$

In this paper, motivated by these results, we shall provide new proofs for two lacunary recurrence relations for the Bernoulli numbers. The first has gaps of length four.

Theorem 1.1. For $n \geq 0$,

$$\sum_{k=0}^{\lfloor n/2 \rfloor} (-1)^k (2^{2n-2k} - 2^{2k+1}) \binom{2n+2}{4k+2} B_{2n-4k} = (-1)^{n+1} (n+1).$$

The second recurrence is more involved and has gaps of length eight.

Theorem 1.2. For $n \geq 0$,

$$\begin{aligned} & \sum_{k=0}^{\lfloor n/4 \rfloor} (-1)^k b_{4k+2} (2^{2n-2k} - 2^{6k+1}) \binom{2n+4}{8k+4} B_{2n-8k} \\ &= (-1)^{n+1} (n+2) \frac{b_{2n+3} - c_{2n+3}}{8}, \end{aligned}$$

where

$$b_n = 2b_{n-1} + b_{n-2} \quad \text{and} \quad c_n = 2c_{n-1} - 3c_{n-2},$$

with the initial conditions

$$b_0 = b_1 = 1 \quad \text{and} \quad c_0 = c_1 = 1.$$

The recurrence formula in Theorems 1.1 and 1.2 are not new, they already appear in [9], where Lehmer [9] defines the sequence $\{R_n\}_{n \geq 0}$ by:

$$\sum_{n=0}^{\infty} R_n \frac{x^n}{n!} = \frac{x e^x}{e^{2x} - 1} = \frac{e^x}{e^x - 1} - \frac{1}{2} \frac{2x}{e^{2x} - 1}.$$

It is clear that

$$R_n = (1 - 2^{n-1}) B_n.$$

So Theorem 1.1 is exactly formula 3 of [9, Eq. (15), p. 643] and Theorem 1.2 is exactly recurrence formula 3 with gaps of 8 on page 645 of [9].

Related to Theorem 1.2, we remark that b_n is the first differences of the Pell numbers, i.e.,

$$b_n = P_{n+1} - P_n.$$

It is well-known that the Pell numbers

$$P_n = \frac{(1 + \sqrt{2})^n - (1 - \sqrt{2})^n}{2\sqrt{2}}$$

satisfy the recurrence relation

$$P_n = 2P_{n-1} + P_{n-2}$$

with $P_0 = 0$ and $P_1 = 1$. It is an easy exercise to prove that

$$b_n = \frac{(1 + \sqrt{2})^n + (1 - \sqrt{2})^n}{2} \quad \text{and} \quad c_n = \frac{(1 + \sqrt{-2})^n + (1 - \sqrt{-2})^n}{2}.$$

2. Proof of Theorem 1.1

In order to prove this theorem, we consider that the n th powers of π^2 and π^4 can be expressed in terms of the n th elementary symmetric function [10,12] as follows:

$$(2) \quad e_n \left(\frac{1}{1^2}, \frac{1}{2^2}, \frac{1}{3^2}, \dots \right) = \frac{\pi^{2n}}{(2n+1)!}, \quad n \geq 0$$

and

$$(3) \quad e_n \left(\frac{1}{1^4}, \frac{1}{2^4}, \frac{1}{3^4}, \dots \right) = \frac{2^{2n+1} \cdot \pi^{4n}}{(4n+2)!}, \quad n \geq 0.$$

On the other hand, according to Merca [10], the Riemann zeta function with even arguments $\zeta(2n)$ can be expressed in terms of the n th complete homogeneous symmetric function of the numbers $\frac{1}{1^2}, \frac{1}{2^2}, \frac{1}{3^2}, \dots$, as follows:

$$(4) \quad h_n \left(\frac{1}{1^2}, \frac{1}{2^2}, \frac{1}{3^2}, \dots \right) = 2 \left(1 - \frac{2}{2^{2n}} \right) \zeta(2n), \quad n \geq 0.$$

These relations allow us to consider the following two identities of formal power series in t :

$$\sum_{n=0}^{\infty} e_n \left(\frac{1}{1^2}, \frac{1}{2^2}, \frac{1}{3^2}, \dots \right) t^n = \prod_{n=1}^{\infty} \left(1 + \frac{t}{n^2} \right)$$

and

$$\sum_{n=0}^{\infty} h_n \left(\frac{1}{1^2}, \frac{1}{2^2}, \frac{1}{3^2}, \dots \right) t^n = \prod_{n=1}^{\infty} \left(1 - \frac{t}{n^2} \right)^{-1}.$$

We have

$$\begin{aligned} & \left(\sum_{n=0}^{\infty} (-1)^n e_n \left(\frac{1}{1^4}, \frac{1}{2^4}, \frac{1}{3^4}, \dots \right) t^{2n} \right) \left(\sum_{n=0}^{\infty} h_n \left(\frac{1}{1^2}, \frac{1}{2^2}, \frac{1}{3^2}, \dots \right) t^n \right) \\ &= \prod_{n=1}^{\infty} \left(1 + \frac{t}{n^2} \right) \\ &= \sum_{n=0}^{\infty} e_n \left(\frac{1}{1^2}, \frac{1}{2^2}, \frac{1}{3^2}, \dots \right) t^n. \end{aligned}$$

Considering the well-known Cauchy products of two power series, we can write

$$\begin{aligned} & \left(\sum_{n=0}^{\infty} (-1)^n e_n \left(\frac{1}{1^4}, \frac{1}{2^4}, \frac{1}{3^4}, \dots \right) t^{2n} \right) \left(\sum_{n=0}^{\infty} h_n \left(\frac{1}{1^2}, \frac{1}{2^2}, \frac{1}{3^2}, \dots \right) t^n \right) \\ &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^{\lfloor n/2 \rfloor} (-1)^k e_k \left(\frac{1}{1^4}, \frac{1}{2^4}, \frac{1}{3^4}, \dots \right) h_{n-2k} \left(\frac{1}{1^2}, \frac{1}{2^2}, \frac{1}{3^2}, \dots \right) \right) t^n. \end{aligned}$$

So we deduce the identity

$$\sum_{k=0}^{\lfloor n/2 \rfloor} (-1)^k e_k \left(\frac{1}{14}, \frac{1}{24}, \frac{1}{34}, \dots \right) h_{n-2k} \left(\frac{1}{12}, \frac{1}{22}, \frac{1}{32}, \dots \right) = e_n \left(\frac{1}{12}, \frac{1}{22}, \frac{1}{32}, \dots \right).$$

Taking into account the relations (2)-(4) and the famous formula for the even-argument ζ -values [17]

$$\zeta(2n) = (-1)^{n+1} \frac{(2\pi)^{2n}}{2 \cdot (2n)!} B_{2n},$$

we obtain the identity

$$\sum_{k=0}^{\lfloor n/2 \rfloor} (-1)^{n+1-k} \frac{2^{2n-2k+1}}{(4k+2)!(2n-4k)!} \left(1 - \frac{2}{2^{2n-4k}} \right) B_{2n-4k} = \frac{1}{(2n+1)!}.$$

The proof follows easily.

3. Proof of Theorem 1.2

The proof of this theorem is quite similar to that of Theorem 1.1. In addition, we consider [12] that the n th power of π^8 can be expressed in terms of the n th elementary symmetric function of the numbers $\frac{1}{18}, \frac{1}{28}, \frac{1}{38}, \dots$, as follows:

$$(5) \quad e_n \left(\frac{1}{18}, \frac{1}{28}, \frac{1}{38}, \dots \right) = \frac{2^{6n+3} \cdot \pi^{8n}}{(8n+4)!} b_{4n+2}.$$

We have

$$\begin{aligned} & \left(\sum_{n=0}^{\infty} (-1)^n e_n \left(\frac{1}{18}, \frac{1}{28}, \frac{1}{38}, \dots \right) t^{4n} \right) \left(\sum_{n=0}^{\infty} h_n \left(\frac{1}{12}, \frac{1}{22}, \frac{1}{32}, \dots \right) t^n \right) \\ &= \prod_{n=1}^{\infty} \left(1 - \frac{t^4}{n^8} \right) \left(1 - \frac{t}{n^2} \right)^{-1} \\ &= \prod_{n=1}^{\infty} \left(1 + \frac{t^2}{n^4} \right) \left(1 + \frac{t}{n^2} \right) \\ &= \left(\sum_{n=0}^{\infty} e_n \left(\frac{1}{14}, \frac{1}{24}, \frac{1}{34}, \dots \right) t^{2n} \right) \left(\sum_{n=0}^{\infty} e_n \left(\frac{1}{12}, \frac{1}{22}, \frac{1}{32}, \dots \right) t^n \right) \\ &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^{\lfloor n/2 \rfloor} e_k \left(\frac{1}{14}, \frac{1}{24}, \frac{1}{34}, \dots \right) e_{n-2k} \left(\frac{1}{12}, \frac{1}{22}, \frac{1}{32}, \dots \right) \right) t^n. \end{aligned}$$

On the other hand, we can write

$$\left(\sum_{n=0}^{\infty} (-1)^n e_n \left(\frac{1}{18}, \frac{1}{28}, \frac{1}{38}, \dots \right) t^{4n} \right) \left(\sum_{n=0}^{\infty} h_n \left(\frac{1}{12}, \frac{1}{22}, \frac{1}{32}, \dots \right) t^n \right)$$

$$= \sum_{n=0}^{\infty} \left(\sum_{k=0}^{\lfloor n/4 \rfloor} (-1)^k e_k \left(\frac{1}{1^4}, \frac{1}{2^4}, \frac{1}{3^4}, \dots \right) h_{n-4k} \left(\frac{1}{1^2}, \frac{1}{2^2}, \frac{1}{3^2}, \dots \right) \right) t^n.$$

In this way, we deduce the identity

$$\begin{aligned} & \sum_{k=0}^{\lfloor n/4 \rfloor} (-1)^k e_k \left(\frac{1}{1^4}, \frac{1}{2^4}, \frac{1}{3^4}, \dots \right) h_{n-4k} \left(\frac{1}{1^2}, \frac{1}{2^2}, \frac{1}{3^2}, \dots \right) \\ &= \sum_{k=0}^{\lfloor n/2 \rfloor} e_k \left(\frac{1}{1^4}, \frac{1}{2^4}, \frac{1}{3^4}, \dots \right) e_{n-2k} \left(\frac{1}{1^2}, \frac{1}{2^2}, \frac{1}{3^2}, \dots \right), \end{aligned}$$

that can be rewritten as

$$\begin{aligned} & \sum_{k=0}^{\lfloor n/4 \rfloor} (-1)^{n+1-k} b_{4k+2} \frac{2^{2n-2k+2} - 2^{6k+3}}{(8k+4)!(2n-8k)!} B_{2n-8k} \\ &= \sum_{k=0}^{\lfloor n/2 \rfloor} \frac{2^{2k}}{(4k+2)!(2n-4k+1)!} \end{aligned}$$

or

$$\begin{aligned} & \sum_{k=0}^{\lfloor n/4 \rfloor} (-1)^{n+1-k} b_{4k+2} (2^{2n-2k} - 2^{6k+1}) \binom{2n+4}{8k+4} B_{2n-8k} \\ &= \frac{n+2}{2} \sum_{k=0}^{\lfloor n/2 \rfloor} 2^{2k} \binom{2n+3}{4k+2}. \end{aligned}$$

Now we consider the multisection formula first published by Simpson (see [4, Ch. 16], [15, Ch. 4, S. 4.3] and [16]) as early as 1759. If

$$f(x) = a_0 + a_1x + a_2x^2 + \dots + a_nx^n + \dots$$

is a finite or infinite series, then for $0 \leq r < n$ the sum

$$a_r x^r + a_{r+n} x^{r+n} + a_{r+2n} x^{r+2n} + \dots$$

is given by

$$(6) \quad \sum_{k \geq 0} a_{r+kn} x^{r+kn} = \frac{1}{n} \sum_{k=0}^{n-1} z^{-kr} f(z^k x),$$

where $z = e^{\frac{2\pi i}{n}}$ is the n th root of 1.

Applying the multisection formula (6) to

$$f(x) = (1 + \sqrt{2}x)^p = \sum_{k=0}^p \binom{p}{k} (\sqrt{2}x)^k,$$

we obtain

$$\sum_{k \geq 0} \binom{p}{4k+2} (\sqrt{2}x)^{4k+2} = \frac{1}{4} \sum_{k=0}^3 e^{-k\pi i} \left(1 + e^{\frac{k\pi i}{2}} \sqrt{2}x\right)^p.$$

The case $x = 1$ and $p = 2n + 3$ of this relation read as

$$\begin{aligned} & \sum_{k=0}^{\lfloor n/2 \rfloor} 2^{2k+1} \binom{2n+3}{4k+2} \\ &= \frac{1}{4} \left((1 + \sqrt{2})^{2n+3} - (1 + \sqrt{-2})^{2n+3} + (1 - \sqrt{2})^{2n+3} - (1 - \sqrt{-2})^{2n+3} \right) \\ &= \frac{1}{2} (b_{2n+3} - c_{2n+3}). \end{aligned}$$

The proof is finished.

4. Concluding remarks

The relationships of the elementary symmetric functions to the natural powers of π^2 , π^4 and π^8 have been used in this paper to provide new proofs for two lacunary recurrence relations for the Bernoulli numbers with gaps of length four and eight. Theorem 1.1 can be combined to Ramanujan's recurrence formula (1) to get a different lacunary recurrence formula for the Bernoulli numbers with gaps of length four.

Corollary 4.1. For $n \geq 0$,

$$\sum_{k=0}^{\lfloor n/2 \rfloor} (-1)^k 2^{2k+1} \binom{2n+2}{4k+2} B_{2n-4k} = \left((-1)^{\lfloor n/2 \rfloor} 2^n + (-1)^n \right) (n+1).$$

We note that, when the problem of finding a closed form for

$$e_n \left(\frac{1}{1^{2k}}, \frac{1}{2^{2k}}, \frac{1}{3^{2k}}, \dots \right)$$

in terms of π^{2kn} and the problem of finding a closed form for

$$h_n \left(\frac{1}{1^{2k}}, \frac{1}{2^{2k}}, \frac{1}{3^{2k}}, \dots \right)$$

in terms of $\zeta(2kn)$ for arbitrary k will be solved, then further, stronger lacunary recurrences for the Bernoulli numbers will follow by the methods used in this article.

References

- [1] J. G. F. Belinfante and I. Gessel, *Problems and Solutions: Solutions of Elementary Problems: E3237*, Amer. Math. Monthly **96** (1989), no. 4, 364–365.
- [2] B. C. Berndt, *Ramanujan's notebooks. Part IV*, Springer-Verlag, New York, 1994.
- [3] M. Chellali, *Accélération de calcul de nombres de Bernoulli*, J. Number Theory **28** (1988), no. 3, 347–362.

- [4] R. Honsberger, *Mathematical Gems. III*, The Dolciani Mathematical Expositions, **9**, Mathematical Association of America, Washington, DC, 1985.
- [5] F. T. Howard, *Applications of a recurrence for the Bernoulli numbers*, J. Number Theory **52** (1995), no. 1, 157–172.
- [6] ———, *Formulas of Ramanujan involving Lucas numbers, Pell numbers, and Bernoulli numbers*, in Applications of Fibonacci numbers, Vol. 6 (Pullman, WA, 1994), 257–270, Kluwer Acad. Publ., Dordrecht, 1996.
- [7] ———, *A general lacunary recurrence formula*, in Applications of Fibonacci numbers. Vol. 9, 121–135, Kluwer Acad. Publ., Dordrecht, 2004.
- [8] K. F. Ireland and M. I. Rosen, *A Classical Introduction to Modern Number Theory*, revised edition of *Elements of number theory*, Graduate Texts in Mathematics, **84**, Springer-Verlag, New York, 1982.
- [9] D. H. Lehmer, *Lacunary recurrence formulas for the numbers of Bernoulli and Euler*, Ann. of Math. (2) **36** (1935), no. 3, 637–649.
- [10] M. Merca, *Asymptotics of the Chebyshev-Stirling numbers of the first kind*, Integral Transforms Spec. Funct. **27** (2016), no. 4, 259–267.
- [11] ———, *On families of linear recurrence relations for the special values of the Riemann zeta function*, J. Number Theory **170** (2017), 55–65.
- [12] ———, *Two algorithms for computing the Riemann zeta functions $\zeta(4n)$ and $\zeta(8n)$ as a reduced fraction*, submitted to publication.
- [13] V. Namiias, *A simple derivation of Stirling's asymptotic series*, Amer. Math. Monthly **93** (1986), no. 1, 25–29.
- [14] S. Ramanujan, *Some properties of Bernoulli's numbers*, J. Indian Math. Soc. **3** (1911), 219–234.
- [15] J. Riordan, *Combinatorial Identities*, John Wiley & Sons, Inc., New York, 1968.
- [16] T. Simpson, *The invention of a general method for determining the sum of every 2d, 3d, 4th, or 5th, & c, term of a series, taken in order; the sum of the whole series being known*, Philosophical Transactions **50** (1757–1758), 757–769, available at <http://www.jstor.org/stable/105328>.
- [17] H. Tsumura, *An elementary proof of Euler's formula for $\zeta(2m)$* , Amer. Math. Monthly **111** (2004), no. 5, 430–431.
- [18] C. C. Yalavigi, *Bernoulli and Lucas numbers*, Math. Education **5** (1971), A99–A102.

MIRCEA MERCA
ACADEMY OF ROMANIAN SCIENTISTS
SPLAIUL INDEPENDENTEI 54, BUCHAREST 050094, ROMANIA
Email address: mircea.merca@profinfo.edu.ro